

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 16, 2023

Progress Estimate Number	Contract ID	221216-G01	Pay Period Start	See NTP Date	Original Contract Amou	nt \$1,376,395.51
1	Prime Contractor	S & A Equipment & Builders, LLC		October 15, 2023	Net Change Order Amount Current Contract Amoun	\$0.00 nt \$1,376,395.51
4 15 (Б

Approval Date		By User
October 16, 2023	Generated and Approved (and should be considered Draft) at the Project Office Level by	MARKHS
October 17, 2023	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	koestg1
October 17, 2023	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
December 1, 2023	December 1, 2023		14.46%

	Contract Informational Date	tes	Milestones
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	January 4, 2023	January 4, 2023	
Letting Date	December 16, 2022	December 16, 2022	
Notice to Proceed Date	February 6, 2023	February 6, 2023	
Open to Traffic Date			
Work Began Date			

Contract Total Pay	y For Estimate No. 1				
		This Estimate	Previous	To Date	
221216-G01					
	Total Posted Items Pay	\$198,983.29	\$0.00	\$198,983.29	
	Gross Item Adjustments	(\$2,108.75)	\$0.00	(\$2,108.75)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	•		\$0.00	\$196,874.54	
Contract Total Pay	yable This Estimate:	\$196,874.54			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J7P3465	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$150,706.400	0.25	\$37,676.60
	0020	2035000	UNCLASSIFIED EXCAVATION	CUYD	\$29.650	256	\$7,590.40
	0030	2036000	COMPACTING EMBANKMENT	CUYD	\$33.950	61	\$2,070.95
	0040	2037075	COMPACTING IN CUT	STA	\$16.980	3.9	\$66.22
	0290	6161005	CONSTRUCTION SIGNS	SQFT	\$7.500	546	\$4,095.00
	0300	6161008	ADVANCED WARNING RAIL SYSTEM		\$48.220	4	\$192.88
	0310	6161025	CHANNELIZER (TRIM LINE)	EA	\$23.570	300	\$7,071.00
	0320	6161030	TYPE III MOVEABLE BARRICADE	EA	\$160.730	4	\$642.92
	0330	6161033	DIRECTIONAL INDICATOR BARRICADE	EA	\$80.360	30	\$2,410.80
	0340	6161040	FLASHING ARROW PANEL	EA	\$1,928.720	2	\$3,857.44
	0350	6161055	SEQUENTIAL FLASHING WARNING LIGHT	EA	\$214.300	30	\$6,429.00
	0360	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	EA	\$7,286.260	6	\$43,717.56
	0380	6181000	MOBILIZATION	LS	\$166,325.040	0.5	\$83,162.52
Project J	7P3465 - ⁻	Total					\$198,983.29

Contract Adjustments This Estimate

Overall - Total

\$198,983.29



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 16, 2023

Progress Estimate Number	Contract ID	221216-G01	Pay Period Start	See NTP Date	Original Contract Amount	\$1,376,395.51
1	Prime Contractor	S & A Equipment & Builders, LLC	Pay Period End	October 15, 2023	Net Change Order Amount Current Contract Amount	\$0.00 \$1,376,395.51

Line Item	Adjust	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7P3465	0020	UNCLASSIFIED EXCAVATION	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	256	\$0.11	\$28.42
	0030	COMPACTING EMBANKMENT	Material			-61	\$33.95	(\$2,070.95)
	0040	COMPACTING IN CUT	Material			-3.9	\$16.98	(\$66.22)
Total								(\$2,108.75)

Revision 3/23/2023 Page 2 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J7P3465	FAF 13-3(85)	Intersection improvement and resurface	7	HENRY	at Routes 7 and 13 north and Routes 7, 13 and 18 south in Clinton

Totals by Job Numbers				
J7P3465		This Estimate	Previous	To Date
Posted Item	Pay	\$198,983.29	\$0.00	\$198,983.29
Gross Item A	Adjustments	(\$2,108.75)	\$0.00	(\$2,108.75)
	Gross Item Pay	\$196,874.54	\$0.00	\$196,874.54
Incentive		\$0.00	\$0.00	\$0.00
Disincentive	1	\$0.00	\$0.00	\$0.00
Liquidated D		\$0.00	\$0.00	\$0.00
Other Contra	act Adjustments	\$0.00	\$0.00	\$0.00

Revision 3/23/2023 Page 3 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J7P3465, Item 2036000, Project Item Line Number 0030, Material Set 203600096, Material 0200XXCS - Compacted Soil for Subgrade orEmbankment, Acceptance Action Generic 0200XXCS is insufficient.	No QC field testing has been reported to MoDOT.	MARKHS	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J7P3465, Item 2037075, Project Item Line Number 0040, Material Set 203707596, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	No QC field testing has been reported to MoDOT.	MARKHS	Acknowledged

Revision 3/23/2023 Page 4 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
1216-G01	J7P3465	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS		\$150,706.40	\$37,676.
		0001	0020	2035000	UNCLASSIFIED EXCAVATION	898.00	0.00	898.00	CUYD	256.00	\$29.65	\$7,590.
		0001	0030	2036000	COMPACTING EMBANKMENT	72.00	0.00	72.00	CUYD	61.00	\$33.95	\$2,070
		0001	0040	2037075	COMPACTING IN CUT	10.70	0.00	10.70	STA	3.90	\$16.98	\$66.
		0001	0050	2063000	CLASS 3 EXCAVATION	92.00	0.00	92.00	CUYD	0.00	\$24.93	\$0.
		0001	0060	2079903	MISC.LINEAR GRADING FOR ADA FACILITIES	13.00	0.00	13.00	LF	0.00	\$19.78	\$0
		0001	0070	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	8.00	0.00	8.00	SQYD	0.00	\$10.65	\$0
		0001	0800	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	521.00	0.00	521.00	SQYD	0.00	\$7.85	\$0
		0001	0090	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	980.00	0.00	980.00	SQYD	0.00	\$6.78	\$0
		0001	0100	5021308	CONCRETE PAVEMENT (8 IN. NON-REINFORCED, 15 FT. JOINTS)	979.40	0.00	979.40	SQYD	0.00	\$81.71	\$0
		0001	0110	5062030A	FURNISHING UNBONDED CONCRETE OVERLAY	740.50	0.00	740.50	CUYD	0.00	\$305.38	\$0
		0001	0120	5062031	UNBONDED CONCRETE OVERLAY PLACEMENT, 8 IN.	511.30	0.00	511.30	SQYD	0.00	\$122.22	\$0
		0001	0130	5062033	UNBONDED CONCRETE OVERLAY INTERLAYER	4,269.20	0.00	4,269.20	SQYD	0.00	\$12.01	\$
		0001	0140	5069905	MISC.UNBONDED CONCRETE OVERLAY PLACEMENT, 6 IN.	3,757.90	0.00	3,757.90	SQYD	0.00	\$17.89	\$(
		0001	0150	6081010	CONCRETE CURB RAMP	4.80	0.00	4.80	SQYD	0.00	\$1,133.41	\$(
		0001	0160	6081012	TRUNCATED DOMES	10.00	0.00	10.00	SQFT	0.00	\$72.01	\$
		0001	0170	6083008	8 IN. CONCRETE MEDIAN STRIP	146.80	0.00	146.80	SQYD	0.00	\$79.67	\$
		0001	0180	6086004	CONCRETE SIDEWALK, 4 IN.	2.80	0.00	2.80	SQYD	0.00	\$787.93	\$
		0001	0190	6091041	CONCRETE GUTTER TYPE A	13.00	0.00	13.00	LF	0.00	\$327.88	\$
		0001	0200	6091051	CURB AND GUTTER TYPE A	1,020.00	0.00	1,020.00	LF	0.00	\$36.61	\$
		0001	0210	6097000	ROCK LINING	2.00	0.00	2.00	CUYD	0.00	\$468.46	\$
		0001	0220	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,928.72	\$
		0001	0230	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	260.10	0.00	260.10	SQYD	0.00	\$126.19	\$
		0001	0240	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	261.00	0.00	261.00	SQYD	0.00	\$9.37	\$
		0001	0250	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	261.00	0.00	261.00	SQYD	0.00	\$10.14	\$
		0001	0260	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	464.00	0.00	464.00	LF	0.00	\$45.00	\$
		0001	0270	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	286.00	0.00	286.00	EA	0.00	\$17.23	\$
		0001	0280	6143013	MANHOLE FRAME AND COVER, TYPE 3	2.00	0.00	2.00	EA	0.00	\$2,982.97	\$
		0001	0290	6161005	CONSTRUCTION SIGNS	984.00	0.00	984.00	SQFT	546.00	\$7.50	\$4,09
		0001	0300	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	0.00	8.00	EA	4.00	\$48.22	\$19
		0001	0310	6161025	CHANNELIZER (TRIM LINE)	300.00	0.00	300.00	EA	300.00	\$23.57	\$7,07
		0001	0320	6161030	TYPE III MOVEABLE BARRICADE	4.00	0.00	4.00	EA	4.00	\$160.73	\$64
		0001	0330	6161033	DIRECTIONAL INDICATOR BARRICADE	30.00	0.00	30.00	EA	30.00	\$80.36	\$2,41
		0001	0340	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$1,928.72	\$3,85
		0001	0350	6161055	SEQUENTIAL FLASHING WARNING LIGHT	30.00	0.00	30.00	EA	30.00	\$214.30	\$6,42
		0001	0360	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR	8.00	0.00	8.00	EA	6.00	\$7,286.26	\$43,71
		0001	0370	6169902	RETAINED MISC.ADA COMPLIANT MOVEABLE BARRICADE	2.00	0.00	2.00	EA	0.00	\$80.36	\$
		0001	0380	6181000	MOBILIZATION	1.00	0.00	1.00	LS		\$166,325.04	\$83,16
		0001	0390	6191000	PAVEMENT EDGE TREATMENT	5,759.00	0.00	5,759.00	LF	0.00	\$4.45	\$
		0001	0400	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	366.00	0.00	366.00	LF	0.00	\$25.72	\$
		0001	0410	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	12.00	0.00	12.00	LF	0.00	\$25.72	\$
		0001	0420	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	19.00	0.00	19.00	EA	0.00	\$375.03	\$
		0001	0430	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN	21.00	0.00	21.00	EA	0.00	\$48.22	\$

Revision 3/23/2023 Page 5 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221216-G01	J7P3465	0001	0440	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,541.00	0.00	1,541.00	LF	0.00	\$0.54	\$0.0
		0001	0450	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	7,070.00	0.00	7,070.00	LF	0.00	\$0.54	\$0.0
		0001	0460	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	5,966.00	0.00	5,966.00	LF	0.00	\$0.54	\$0.0
		0001	0470	6207001	PAVEMENT MARKING REMOVAL	4,093.00	0.00	4,093.00	LF	0.00	\$2.14	\$0.0
		0001	0480	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	11.00	0.00	11.00	EA	0.00	\$214.30	\$0.0
		0001	0490	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	4,270.00	0.00	4,270.00	SQYD	0.00	\$12.86	\$0.0
		0001	0500	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$19,287.15	\$0.0
		0001	0510	7261012	12 IN. PIPE GROUP A	126.00	0.00	126.00	LF	0.00	\$43.00	\$0.0
		0001	0520	7311030	PRECAST CONCRETE DROP INLET 3 FT X 2 FT-6 IN.	16.00	0.00	16.00	FT	0.00	\$672.36	\$0.0
		0001	0530	8031000A	TURF TYPE TALL FESCUE SODDING	2,178.00	0.00	2,178.00	SQYD	0.00	\$17.14	\$0.0
		0001	0540	8061005	ROCK DITCH CHECK	30.00	0.00	30.00	LF	0.00	\$53.58	\$0.0
		0001	0550	8061007A	CURB INLET CHECK	9.00	0.00	9.00	EA	0.00	\$214.30	\$0.0
		0001	0560	8061016	SEDIMENT REMOVAL	23.00	0.00	23.00	CUYD	0.00	\$24.93	\$0.0
		0001	0570	8061019	SILT FENCE	1,083.00	0.00	1,083.00	LF	0.00	\$3.75	\$0.0
		0020	0580	9011064	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 3	4.00	0.00	4.00	EA	0.00	\$3,499.55	\$0.0
		0020	0590	9011115	BRACKET ARM, 15 FT. OR 4.6 M	4.00	0.00	4.00	EA	0.00	\$1,548.33	\$0.0
		0020	0600	9011313	LUMINAIRE, LED-C	8.00	0.00	8.00	EA	0.00	\$582.90	\$0.0
		0020	0610	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	57.00	0.00	57.00	LF	0.00	\$18.22	\$0.0
		0020 0620 901400			CONDUIT, 4 IN. RIGID, PUSHED	318.00	0.00	318.00	LF	0.00	\$27.86	\$0.0
		0020	0630	9015010	TRENCHING TYPE I	268.00	0.00	268.00	LF	0.00	\$7.50	\$0.0
		0020	0640	9016120	PULL BOX, CONCRETE, STANDARD	5.00	0.00	5.00	EA	0.00	\$3,107.37	\$0.0
		0020	0650	9017008	CABLE, 8 AWG 1 CONDUCTOR	950.00	0.00	950.00	LF	0.00	\$1.39	\$0.0
		0020	0660	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	480.00	0.00	480.00	LF	0.00	\$1.07	\$0.0
		0020	0670	9017208	WIRE, 8 AWG, BARE NEUTRAL	480.00	0.00	480.00	LF	0.00	\$1.39	\$0.0
		0020	0680	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	340.00	0.00	340.00	LF	0.00	\$4.61	\$0.0
		0020	0690	9018245	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	4.00	0.00	4.00	EA	0.00	\$2,125.87	\$0.0
		0030	0700	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	291.00	0.00	291.00	LF	0.00	\$12.86	\$0.0
		0030	0710	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	15.00	0.00	15.00	LF	0.00	\$17.14	\$0.0
		0030	0720	9027300	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	39.00	0.00	39.00	LF	0.00	\$26.79	\$0.0
		0030	0730	9028302	CABLE, 12 AWG 2 CONDUCTOR	770.00	0.00	770.00	LF	0.00	\$1.29	\$0.0
		0030	0740	9028500	CABLE, LOOP DETECTOR, IN DUCT	1,350.00	0.00	1,350.00	LF	0.00	\$5.25	\$0.0
		0030	0750	9028820	PULL BOX, CONCRETE, STANDARD	2.00	0.00	2.00	EA	0.00	\$3,107.37	\$0.0
		0030	0760	9029100	BASE, CONCRETE	0.50	0.00	0.50	CUYD	0.00	\$2,143.02	\$0.0
		0030	0770	9029902	MISC.RED SIGNAL FLASHER RELOCATION	1.00	0.00	1.00	EA	0.00	\$4,286.03	\$0.0
		0040	0780	9031010	CONCRETE FOOTINGS, EMBEDDED	0.70	0.00	0.70	CUYD	0.00	\$1,052.54	\$0.0
		0040	0790	9031210	STRUCTURAL STEEL POSTS	510.00	0.00	510.00	LB	0.00	\$23.04	\$0.0
		0040	0800	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	4.00	0.00	4.00	EA	0.00	\$339.13	\$0.0
		0040	0810	9031270A	TUBE) 2 IN. PSST POST - 12 GA.	32.00	0.00	32.00	LF	0.00	\$13.95	\$0.0
		0040	0820	9031274	CONCRETE POST ANCHOR FOR 2 IN. PSST 7 GA.	2.00	0.00	2.00	EA	0.00	\$326.92	\$0.0
		0040	0830	9031280	2.5 IN. PSST POST - 12 GA.	32.00	0.00	32.00	LF	0.00	\$16.23	\$0.0
		0040	0840	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	2.00	0.00	2.00	EA	0.00	\$336.61	\$0.0
		0040	0850		SH-FLAT SHEET	25.00	0.00	25.00	SQFT	0.00	\$22.77	\$0.0
		0040	0860		ST-STRUCTURAL	48.00	0.00	48.00	SQFT	0.00	\$40.93	\$0.0
		0040	0870	9039902	MISC.RELOCATE AND REMOUNT EXISTING SIGN ON NEW	1.00	0.00	1.00	EA	0.00	\$219.66	\$0.0
		0040	0010	5555502	PSST	1.00	0.00	1.00	ĿM	0.00	ψ∠ 13.00	φ0.0

Revision 3/23/2023 Page 6 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note. Fosted Q	tote. Posted Quantities and values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.											
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description		Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221216-G01 Project J7P3465 - Total Value Posted to Date as of Report Generated Date										\$198,983.29		
221216-G01 Ove	221216-G01 Overall - Total Value Posted to Date as of Report Generated Date 221216-G01 Overall - Total Value Posted to Date as of Report Generated Date											\$198,983.29

Revision 3/23/2023 Page 7 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Project: J7P3465

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	10/12/23	10/16/23	0.25	LS	South half of south intersection removals					
0020	2035000	UNCLASSIFIED EXCAVATION	10/12/23	10/16/23	256.00	CUYD	Northbound 13	180+71		184+56		
0030	2036000	COMPACTING EMBANKMENT	10/12/23	10/16/23	61.00	CUYD	Northbound Route 13	180+71		184+56		
0040	2037075	COMPACTING IN CUT	10/12/23	10/16/23	3.90	STA	Northbound Route 13	180+71		184+56		
0290	6161005	CONSTRUCTION SIGNS	10/12/23	10/16/23	546.00	SQFT	See temporary traffic control excel file in Eprojects for locations.					
0300	6161008	ADVANCED WARNING RAIL SYSTEM	10/12/23	10/16/23	4.00	EA	See temporary traffic control excel file in Eprojects for locations.					
0310	6161025	CHANNELIZER (TRIM LINE)	10/12/23	10/16/23	300.00	EA	See temporary traffic control excel file in Eprojects for locations.					
0320	6161030	TYPE III MOVEABLE BARRICADE	10/12/23	10/16/23	4.00	EA	See temporary traffic control excel file in Eprojects for locations.					
0330	6161033	DIRECTIONAL INDICATOR BARRICADE	10/12/23	10/16/23	30.00	EA	See temporary traffic control excel file in Eprojects for locations.					
0340	6161040	FLASHING ARROW PANEL	10/12/23	10/16/23	2.00	EA	See temporary traffic control excel file in Eprojects for locations.					
0350	6161055	SEQUENTIAL FLASHING WARNING LIGHT	10/12/23	10/16/23	30.00	EA	See temporary traffic control excel file in Eprojects for locations.					
0360	6161099	CMS WITH COMMUNICATION INTERFACE, CONT F	10/12/23	10/16/23	6.00	EA	Located throughout project and moveable.					
0380	6181000	MOBILIZATION	10/12/23	10/16/23	0.50	LS	Project exceeds 10% contract cost per specifications.					

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 8 of 10

Oct 18, 2023



Line Item Adjustments by Estimate

Contract ID: 221216-G01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3465	0020	UNCLASSIFIED EXCAVATION	Price FUEL		1	Oct 16, 2023	SYSTEM	\$28.42	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$28.42	
			Price FUEL	- Total				\$28.42	
	0020 -	Total						\$28.42	
	0030	COMPACTING EMBANKMENT	Material		1	Oct 16, 2023	SYSTEM	(\$2,070.95)	
				- Total				(\$2,070.95)	
			Material - To	otal				(\$2,070.95)	
	0030 -	Total						(\$2,070.95)	
	0040	COMPACTING IN CUT	Material		1	Oct 16, 2023	SYSTEM	(\$66.22)	
				- Total				(\$66.22)	
			Material - To	otal				(\$66.22)	
	0040 -	Total						(\$66.22)	
J7P3465	- Total							(\$2,108.75)	
Overall -	Overall - Total								

MoDOT

Contract Adjustments for Contract - 221216-G01

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 10 of 10